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@ (4+10)x6 @ (20—-7)x12
@ 7x(14+30) @ 13X (40 —5)
® 22x8+18x38 ® 59%x15—39%15
@ 19%x174+19%x13 81 x 64 —81 x 54

ROHEE S LTLESL,
@ 101x24 @ 99x 37

® 27x51 @ 46x%19



DHHITHER] Filp.l7 HFEME BE

IMNERDEE [HEOEFY]

[1] &%
@ 84 @ 156 @ 308 @ 455 ® 320
® 300 @ 570 810
MOZZFESKDFHEDZTEYICIE, ROD&LS3LGEDLH S,
(@+H)XA=0XA+HXA
(@—H)XA=0XA-—HEXA
CDEFYZF-THET A LT, SATELNHHEICLIEENH D,

(4410)x6=4x6+10x6=244+60=284

20—7)%x12=20%x12—7x%x12=240—84 =156

7X(144+30)=7x14+7x%x30=98+210=308

13X (40 —5)=13 x40 — 13X 5=520— 65 =455

22x8+18%x8=(22+18)x8=40x8=320

59x 15—39 % 15=(59—39)x 15=20 X 15=300

19%x174+19%x13=19x%x (17+13)=19x 30=570

81x 64 —81x54=81x (64 —54)=81x%x10=2810
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® 2424 @ 3663 @ 1377 @ 874

(@+H)XA=0XA+HXA

(@—H)XA=0XA-—HEXA

FEOT, STEMNFHIZEDSLIITC AT 5,

@ 101x24=(100+1)x 24 =100 X 24+ 1 x 24 =2400+ 24 = 2424
@ 99x37=(100—1)%x37=100x 37—1 x 37=3700— 37 = 3663
@ 27%x51=27%x(50+1)=27x50+27x1=1350+27=1377
@ 46X19=46X%X(20—1)=46x20—46x1=920—46=2874



